Micros()= 65447; Period= 41; Cycle=3; Overflows=0.

FLProg Function Returned= false;
Sancho Function Returned= false;
Labu55 Function Returned= false;

Micros()= 65458; Period= 41; Cycle=4; Overflows=0.

FLProg Function Returned= true;
Next FLProg event must be occurred at: 65499
Sancho Function Returned= true;
Next Sancho event must be occurred at: 65499
Labu55 Function Returned= true;
Next Labu55 event must be occurred at: 65499

Micros()= 65469; Period= 41; Cycle=5; Overflows=0.

FLProg Function Returned= false;
Sancho Function Returned= false;
Labu55 Function Returned= false;

Micros()= 65480; Period= 41; Cycle=6; Overflows=0.

FLProg Function Returned= false;
Sancho Function Returned= false;
Labu55 Function Returned= false;

Micros()= 65491; Period= 41; Cycle=7; Overflows=0.

FLProg Function Returned= false;
Sancho Function Returned= false;
Labu55 Function Returned= false;

Micros()= 65502; Period= 41; Cycle=8; Overflows=0

FLProg Function Returned= true;
Next FLProg event must be occurred at: 7.
Sancho Function Returned= true;
Next Sancho event must be occurred at: 7
Labu55 Function Returned= true;
Next Labu55 event must be occurred at: 7

Micros()= 65513; Period= 41; Cycle=9; Overflows=0.

FLProg Function Returned= true;
Next FLProg event must be occurred at: 18
Sancho Function Returned= false;
Labu55 Function Returned= false;

Micros()= 65524; Period= 41; Cycle=10; Overflows= 0.

FLProg Function Returned= true;
Next FLProg event must be occurred at: 29
Sancho Function Returned= false;
Labu55 Function Returned= false;

Micros()= 65535; Period= 41; Cycle=11; Overflows=0.

FLProg Function Returned= true;
Next FLProg event must be occurred at: 40
Sancho Function Returned= false;
Labu55 Function Returned= false;

Micros()= 10; Period= 41; Cycle=12; Overflows= 1.

FLProg Function Returned= false;

Sancho Function Returned= true;

Next Sancho event must be occurred at: 51
Labu55 Function Returned= true;

Next Labu55 event must be occurred at: 51

Micros()= 21; Period= 41; Cycle=13; Overflows= 1.

FLProg Function Returned= false;
Sancho Function Returned= false;
Labu55 Function Returned= false;

Micros()= 32; Period= 41; Cycle=14; Overflows= 1.

FLProg Function Returned= false;
Sancho Function Returned= false;
Labu55 Function Returned= false;

Micros()= 43; Period= 41; Cycle=15; Overflows= 1.

FLProg Function Returned= true;

Next FLProg event must be occurred at: 84
Sancho Function Returned= false;

Labu55 Function Returned= false;

Micros()= 54; Period= 41; Cycle=16; Overflows= 1.

FLProg Function Returned= false;

Sancho Function Returned= true;

Next Sancho event must be occurred at: 95
Labu55 Function Returned= true;

Next Labu55 event must be occurred at: 95

Micros()= 65; Period= 41; Cycle=17; Overflows= 1.

FLProg Function Returned= false;
Sancho Function Returned= false;
Labu55 Function Returned= false;

XXX Function Returned= true; - @-s2 ompabomana eéepno

XXX Function Returned= xxx; - Cosuz yuxna

XXX Function Returned= true; - Quiuéxa cpabamoiéanus

XXX Function Returned= false; - IIponyck coobimus
Bpems evinonnenus ocnosnozo yuxaa loop() == 11 us.

Micros()= 65448; Period= 3; Cycle=19; Overflows=0.

FLProg Function Returned= false;
Sancho Function Returned= false;
Labu55 Function Returned= false;

Micros()= 65459; Period= 41; Cycle=4; Overflows=0.

FLProg Function Returned= true;
Next FLProg event must be occurred at: 65500
Sancho Function Returned= true;
Next Sancho event must be occurred at: 65500,
Labu55 Function Returned= true;
Next Labu55 event must be occurred at: 65500

Micros()= 65470; Period= 41; Cycle=5; Overflows=0.

FLProg Function Returned= false;
Sancho Function Returned= false;
Labu55 Function Returned= false;

Micros()= 65481; Period= 41; Cycle=6; Overflows=0.

FLProg Function Returned= false;
Sancho Function Returned= false;
Labu55 Function Returned= false;

Micros()= 65492; Period= 41; Cycle=7; Overflows=0.

FLProg Function Returned= false;
Sancho Function Returned= false;
Labu55 Function Returned= false;

Micros()= 65503; Period= 41; Cycle=8; Overflows= 0.

FLProg Function Returned= true;
Next FLProg event must be occurred at: 8
Sancho Function Returned= true;
Next Sancho event must be occurred at: 8
Labu55 Function Returned= true;
Next Labu55 event must be occurred at: 8

Micros()= 65514; Period= 41; Cycle=9; Overflows= 0.

FLProg Function Returned= true;
Next FLProg event must be occurred at: 19
Sancho Function Returned= false;
Labu55 Function Returned= false;

Micros()= 65525; Period= 41; Cycle=10; Overflows= 0.

FLProg Function Returned= true;
Next FLProg event must be occurred at: 30
Sancho Function Returned= false;
Labu55 Function Returned= false;

Micros()= 0; Period= 41; Cycle=11; Overflows=1.

FLProg Function Returned= false;
Sancho Function Returned= false;
Labu55 Function Returned= false;

Micros()= 11; Period= 41; Cycle=12; Overflows= 1.

FLProg Function Returned= false;

Sancho Function Returned= true;

Next Sancho event must be occurred at: 52
Labu55 Function Returned= true;

Next Labu55 event must be occurred at: 52

Micros()= 22; Period= 41; Cycle=13; Overflows= 1.

FLProg Function Returned= false;
Sancho Function Returned= false;
Labu55 Function Returned= false;

Micros()= 33; Period= 41; Cycle=14; Overflows= 1.

FLProg Function Returned= false;
Sancho Function Returned= false;
Labu55 Function Returned= false;

Micros()= 44; Period= 41; Cycle= 15; Overflows= 1.

FLProg Function Returned= false;
Sancho Function Returned= false;
Labu55 Function Returned= false;

Micros()= 55; Period= 41; Cycle= 16; Overflows= 1.

FLProg Function Returned= true;
Next FLProg event must be occurred at: 96
Sancho Function Returned= true;
Next Sancho event must be occurred at: 96
Labu55 Function Returned= true;
Next Labu55 event must be occurred at: 96

Micros()= 66; Period= 41; Cycle= 17; Overflows= 1.

FLProg Function Returned= false;
Sancho Function Returned= false;
Labu55 Function Returned= false;

Micros()= 65449; Period= 41; Cycle=3; Overflows=0.

FLProg Function Returned= false;
Sancho Function Returned= false;
Labu55 Function Returned= false;

Micros()= 65460; Period= 41; Cycle=4; Overflows= 0

FLProg Function Returned= true;
Next FLProg event must be occurred at: 65501
Sancho Function Returned= true;
Next Sancho event must be occurred at: 65501
Labu55 Function Returned= true;
Next Labu55 event must be occurred at: 65501,

Micros()= 65471; Period= 41; Cycle=5; Overflows=0.

FLProg Function Returned= false;
Sancho Function Returned= false;
Labu55 Function Returned= false;

Micros()= 65482; Period= 41; Cycle=6; Overflows=0.

FLProg Function Returned= false;
Sancho Function Returned= false;
Labu55 Function Returned= false;

Micros()= 65493; Period= 41; Cycle=7; Overflows=0.

FLProg Function Returned= false;
Sancho Function Returned= false;
Labu55 Function Returned= false;

Micros()= 65504; Period= 41; Cycle=8; Overflows=0

FLProg Function Returned= true;
Next FLProg event must be occurred at: 9
Sancho Function Returned= true;
Next Sancho event must be occurred at: 9
Labu55 Function Returned= true;
Next Labu55 event must be occurred at: 9

Micros()= 65515; Period= 41; Cycle=9; Overflows= 0.

FLProg Function Returned= true;
Next FLProg event must be occurred at: 20
Sancho Function Returned= false;
Labu55 Function Returned= false;

Micros()= 65526; Period= 41; Cycle= 10; Overflows= 0.

FLProg Function Returned= true;
Next FLProg event must be occurred at: 31
Sancho Function Returned= false;
Labu55 Function Returned= false;

Micros()= 1; Period= 41; Cycle=11; Overflows= 1.

FLProg Function Returned= false;
Sancho Function Returned= false;
Labu55 Function Returned= false;

Micros()= 12; Period= 41; Cycle=12; Overflows= 1.

FLProg Function Returned= false;

Sancho Function Returned= true;

Next Sancho event must be occurred at: 53
Labu55 Function Returned= true;

Next Labu55 event must be occurred at: 53

Micros()= 23; Period= 41; Cycle=13; Overflows= 1.

FLProg Function Returned= false;
Sancho Function Returned= false;
Labu55 Function Returned= false;

Micros()= 34; Period= 41; Cycle=14; Overflows= 1.

FLProg Function Returned= false;
Sancho Function Returned= false;
Labu55 Function Returned= false;

Micros()= 45; Period= 41; Cycle=15; Overflows=1.

FLProg Function Returned= false;
Sancho Function Returned= false;
Labu55 Function Returned= false;

Micros()= 56; Period= 41; Cycle=16; Overflows= 1.

FLProg Function Returned= true;
Next FLProg event must be occurred at: 97
Sancho Function Returned= true;
Next Sancho event must be occurred at: 97
Labu55 Function Returned= true;
Next Labu55 event must be occurred at: 97

Micros()= 67; Period= 41; Cycle=17; Overflows= 1.

FLProg Function Returned= false;
Sancho Function Returned= false;
Labu55 Function Returned= false;



